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QUESTION 1

A VLAN can be a member of up to 64 STPDs. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 2

Which predefined protocol filter does the following information relate to? 

Correct Answer: ipx  

 

QUESTION 3

An OSPF router connected to a RIP network and performing route redistribution is considered: A. to be an ASBR. 

B. to be an ABR. 

C. to be a DR. 

D. to be a BDR. 

Correct Answer: A 

 

QUESTION 4

Route advertisement messages have been altered to use a broadcast address. Which command would you use to
change this back to the default setting? 

A. config igmp multicast 

B. config irdp multicast 

C. config icmp multicast 

D. config ecmp multicast 

Correct Answer: B 

 

QUESTION 5
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RIP version 2 advertises routes to its neighbors using an IP broadcast. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 6

What is the proper command syntax to create a user-level account for John Doe? 

A. create user account jdoe 

B. create account user jdoe 

C. create account jdoe user 

D. None of these. 

Correct Answer: B 

 

QUESTION 7

RIP version 2 uses a composite metric that includes link speed and delay. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 8

You need to change the name of a VLAN from corporate to corp. What steps would you take to do this? 

A. config name corporate corp 

B. config corporate name corp 

C. config name corp corporate 

D. config corp name corporate 

Correct Answer: B 

 

QUESTION 9

Which of the following is not advertised in an OSPF Link State Advertisement? 
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A. Costs 

B. Link utilization 

C. Router interfaces 

D. Neighbor information 

Correct Answer: B 

 

QUESTION 10

Why would the protocol for VLAN corporate listed as none? 

A. It is not possible for a VLAN to have NONE listed as the protocol. 

B. A protocol filter was added to the VLAN. That protocol filter was later deleted fromthe switch. 

C. A protocol filter has not yet been added to the VLAN. 

D. None of these. 

Correct Answer: B 

 

QUESTION 11

Routing is disabled in all VLANs by default. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 12

OSPF area 0.0.0.0 is connected to area 1.1.1.1. Stub area 2.2.2.2 is connected to area 1.1.1.1. Area 2.2.2.2 routers
show only directly connected networks in their IP route tables. What must you do to resolve this situation? 

A. Create a virtual link between areas 0.0.0.0 and 2.2.2.2. 

B. Create a virtual link between areas 2.2.2.2 and 0.0.0.0. 

C. Create a virtual link between areas 1.1.1.1 and 2.2.2.2. 

D. Create a virtual link between areas 1.1.1.1 and 0.0.0.0. 

Correct Answer: AB 
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QUESTION 13

How could you verify that MAC address learning is disabled for ports 1-8 on a Summit7i switch? 

A. Enter the show ports config detail command. 

B. Enter the show ports management detail command. 

C. Enter the show ports statistics detail command. 

D. Enter the show ports info detail command. 

Correct Answer: D 

 

QUESTION 14

Without QoS, all packets are allowed equal access to an egress port. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 15

Exhibit: 

Which command would provide only the following information for the default VLAN? 

A. show default 

B. show vlan default 

C. show default vlan 

D. All of these. 

Correct Answer: AB 
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